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4. Consider the production function:

Y = AK®If . 4.1)

where Y is total output, X is capital stock, L is labor force and 4 is total factor productivity. The Solow
residual is such that

g4=8y -8y - Pg,, (4.2)

where g denotes the growth rate.

(1)
(11)

(5) Derive equation (4.2) from equation (4.1).
(5) In his 1957 article, Robert Solow re gards the assumption “factors are paid their marginal

products” (i.e., the firm is a competitive firm) as a crucial one in this growth accounting. What
does this assumption say about the relationship between g and 87

(5) Write two reasons that might cause the change of total factor productivity.
(5) Why g, isregarded as a “residual™?

(5)Let k= —IE: , What is g, at the steady state in the Solow growth model?




